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QUESTION 1

Your network is reconfigured as multiple subnets. Your company needs to support legacy NetBIOS applications across
subnet boundaries. Which should you use for name resolution?

A. DNS server

B. Client HOSTS file
C. WINS server

D. NetBIOS broadcasts

Correct Answer: D

QUESTION 2
You work at a coffee shop. Your supervisor asks you to help set up a computer network.

The network needs to have the following items: A public facing web server A Wi-Fi network for customers A private
network for the point of sale terminals An office PC A file/print server A network printer

You need to set up a perimeter network to protect the network.

Which two items should you include in the perimeter network? (Choose two.)

A. Network printer

B. Web server

C. File server

D. Wi-Fi network

E. Point of sale terminals

Correct Answer: AB

Put the web server and the network printer on the perimeter network.

The file server, wifi-network, and the Point of sale terminals should not be accessible from the internet.

Note: A network perimeter is the boundary between the private and locally managed-and-owned side of a network and
the public and usually provider-managed side of a network.

QUESTION 3
What are two characteristics of fiber optic cable? (Choose two.)

A. Conducts electricity
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B. Requires metal conduit

C. Supports splicing

D. Requires a polish for end connectors

Correct Answer: CD

C: A mechanical splice is a junction of two or more optical fibers that are aligned and held in place by a self-contained
assembly (usually the size of a large carpenter\\'s nail).[1] The fibers are not permanently joined, just precisely held
together so that light can pass from one to another.

D: Modern connectors typically use a "physical contact" polish on the fiber and ferrule end. This is a slightly convex
surface with the apex of the curve accurately centered on the fiber, so that when the connectors are mated the fiber
cores come into direct contact with one another.

Note: Optical fiber connectors are used to join optical fibers where a connect/disconnect capability is required. Due to

the polishing and tuning procedures that may be incorporated into optical connector manufacturing, connectors are
generally assembled onto optical fiber in a supplier\\'s manufacturing facility.

QUESTION 4
This question requires that you evaluate the underlined text to determine if it is correct.

When a client computer is unable to reach a DHCP server, it will automatically assign an IP address in the "10.0.0.0
-10.0.0.255" range.

Select the correct answer if the underlined text does not make the statement correct. Select \'No change is needed" if
the underlined text makes the statement correct.

A. 127.0.0.0-127.0.0.255

B. 169.254.0.0-169.254.255.255
C. 192168.100.0 -192.168.100.255
D. No change is needed

Correct Answer: B

169.254.0.0 - 169.254.255.255 is the APIPA address range. An APIPA address is used when the DHCP server is not
available.

QUESTION 5

Which access method is used in a physical ring topology?
A. collision

B. token passing

C. avoidance
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D. polling

Correct Answer: B
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